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2 A 4 HE R U At 5 5 fiit
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1 [E 75 AL E R A AL 5 6 fiit
2 4R [EFE JEAT B H R s A 5 3 it
3 4 [H 3 AL E R A AL 5 0 ffit
4 HE [EGE AT B R S A 5 31t
5 4 [E7E R F R A AL 5 2 fiit
3L JeAS B H R R s A 5 0 fit
4 it JEAT R AR U A 5 3 it
2 ERH R 1T B L R R AR A 5 3 it
3R PR A8 B L R T AR 5 0 fit
4 EERH PR A8 B R T AR 5 31
1 EATE FR ] E R A=A 5 6 fit
2 AR AL E R A AL 5 3 it
2 X T H A ST iR U 5 3 it
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6 4F X T. H A ST iR U 5 4 it
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1 4R [ERE PR ER A4 3 9 it
2 4 [ 3 JEART B HH IR S+ 3 6 it
3 4R [ERE TR E A 3 3 fit
4 4R [EGE JEAT B HH IR+ 3 6 it
5 4 [E 3 TR ER A A 3 5t
6 4 [ 35 JEAT X H R s A 3 7 fit
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2HEEE JEAT B HH IR+ 171
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4 3 A Mk 1t 17 i
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14T H A SRR A AL 17 fit
3K T H A R A AL 17
54X T H A SRR A= AL 17 fit
5 5 iE RO EREAR A 1 7 fit
6 FE R RE HOXFERER NS AL 17 it
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4 LR AL BE A 50 17 fit
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2 FH PR A8 B L e AR 3 6 it
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6 A R F R A AL 5 8 fiit
6 FHE (BB | FRRERAST 5 8 it
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2 AT A B R s A 5 7 it
3 A R EAMERASE 5 4 fiit
4 HEPRR} KA AR E /R A 5 8 fiit
5 HFER R HAKERAS 5 5 ffit
6 FEHF KB AR ER A AL 5 8 fitt
145 2 Rt 2F 2t 6 2 ffit
2 HEH % MRt 2F 2t 5 7 fit
3 % MRSt ZF it 5 4 fit
4 A MRt 2F H it 5 8 fiit
5 AL MRt EF E it 5 5 ffit
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6 4FX T H A ST iR N 5 8 it
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2 FRIETE AL EE S 50 5 71
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6 A AR FIEE S 50 5 8 it
3 AR fet HASHFAEE 50 5 4 i
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5 IR fe AR HEFIEE 2 50 5 5 it
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(2) ZETHFEEE 1, 44 51
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4 s A ikt 3 71
5 -tk A kst 3 8 it
6 ik A ikt 4 1 i
3 4 i1 [X] Rt = EBE 1 8 it
1R R E R A AL 3 9t
2 R R ERR A AL 3 9 fit
SREECR R R A AL 3 71




4 F R AL E R A AL 3 7 fit
SRR PR ERR AL 3 8 fiit
6 F5 A AL E R A AL 4 1 it
1 AR SRS B E H R A= 1 1 9 fft
2 TR JEARS X H ok A 1 8 fit
3HEFER K HAKERAS 3 7 fit
4 F PR K EAMERASE 3 7 ffit
5 B AL NI ENEIE 27 Ve a 3 8 fiit
6 FHF NI ENEIE 27 SaveEa 4 1 fi#
1 AR5 38 MRSt 2F it 191t
2 HEH % Rt 2F 2t 1 81t
3HEH % MRt 2F 2t 1 8 fit
4 MRS AL HCE it 1 8 fit
5 4R H % MRt EF Hiv i 1 81t
6 F 3 A S HH i 1 8 ffit
1A T H A ST R U 19 it
2 4R T H A SCEH Rk A £ 1 8 it
3R T H A SCEH ok A= 1 8 ffit
4T H A ST iR N 1 8 fit
5 4E X T H A SCEH ok A= 1 8 ffit
6 41X T H A SCEH ok A= 1 8 fiit
5 E XK IE [F P HH R s+ 1 8 ffit
6 FEFKJiE BF P A HH Rk A AL 1 8 it
1 4B T RSN EE S 50 19 fit
2 A B T A FEWEE 7 5V 1 8 fft
3 A AN EE S 50 1 8 fit
4 FEETE AL EEF S 50 1 8 fit
5 £ 1E 1E AR AN EE L0 1 81
6 £ IE AN BEEF 250 1 8 fit

.28.




3 R RAS 2 EE 2 5 W 1 8 fit
4 R BRAS A EE 7 50 1 8 i
5 G P fit AN EEF 50 1 81
6 PR fd RASHEWEE 2 5 W 1 8 fit
5 HFIEEE P P A HH ok X AL 3 8 fiit
6 - I ek P P A HH ROk X L 4 111

.29.




2 o

i S o 7 7%

MPEDHAFIZHONT

1 A NP R R QR R
2 N "

(D) #HEiHARE 2, 7501

i % HooR e B
1 5 5h JERS X H R A= 5 4 it
2 F[H 5k JER X H R A= 5 5 it
3 [ 3 AT B R s A 5 5 fiit
4 5 5h JER X H R A= 5 7 i
5 - [H 5k JER X H R A= 5 6 it
6 4 [ 55 oA B R s A 5 9 fiit
1 £EFE JEAT [ AR U A 5 4 fit
2 FEEE YRS B R s A 5 5 ffit
3HEEE JEART B R s 5 5 it
4 EET YRS B R R s A 57t
5HFEEE YRS B R R s A 5 6 it
6 FEE AT B AR U 2 A 5 9 fiir
3t A R A& AL 5 5 fiit
4 e A R A &AL 57 it
5tk A H R At 5 6 it
6 Ffhs A R U At 5 9 fit
3 AR X T ES 5 5 fiit
1AERE TR ER A A 5 4 it
2 R TR E A 5 5 fit
3R TR E A 5 5 fit
4RI TR ER A A 5 71
5 R TR E A 5 6 fit

.30.




6 FEHL AL E R A AL 5 9 fiit
6 FHE (BEH) | FRMERASH 5 9 fiit
1 AT A HRR A AL 5 4 fit
3 4R FORE R A AL 5 5 ffit
4 AE PR} FOERER A 5 7 it
5 4 ELR FOLERER A 5 6 fiit
6 4= HLA} FURE R A AL 5 9 fiit
149 38 A kit 5 4 fiit
2 I MR 2F 2t 5 5 fiit
BREESE S A U At 5 5 it
4 FEE R Rt 2F 2t 5 7 fit
5 4 g 2E R 4 5 6 fiit
6 5 4 RSB i L 5 9 fiit
1R T H AR SCH U IR U+ 5 4 fiir
34X T H AR SCH U IR U+ 5 5 it
54T H A ST iR U 5 6 fit
5 FBE BR P St Y RRORR s+ 5 6 it
1 ARJE T BRE A SERE 5 5 it
2 FEIETE 4 Gakken 5 5 it
3 43 1 PRE A SERE 5 5 it
4 HEETE 4 Gakken 57 i
5 fEETE RSt SCERE 5 6 ffit
6 4 IE S 4 Gakken 5 9 it
3 R f R 2 H: Gakken 5 5 ffit
5 - f R4t Gakken 5 6 it
54 Jeal AT B AR S 2 A 5 6 it
6 4 S ik BR B St Y RRORE s+ 5 9 fiit

.31.




.32.

(2) ZEiMfEEE 1, 55 81
i 4 HoR =
1 4F =35 JEAT B HH IR 2+ 3 5 it
LVREEGET—7 v — b | R RE RS A 3 5 fiit
2 FEE JEAT B HH IR S+ 3 6 it
HEEFEY —7 v— b | A E R s At 3 6 it
3 4 [EFE JEAT B H R s A 3 6 fiit
SEEFY—7 v— b | R E R 3 6 fit
4 5 5h JER X E H R A= 1 3 8t
AFEEREY —7 — b | e R E R A A 3 8 fit
5 - [H 5k JER X E R A= 1 3 7
SEEFY—7 v— b | R E MR 3 7 fit
6 4 [ 35 JEAT B H R s A 4 0 fit
6 EEGEY —7 — b | e E RS A 4 0 fit
14EEE YRS B R R s A 191
2HEEE JEART B HH IR S+ 19 it
3HEEE YRS B R s A 191
44EEE YRS B R R s A 191
5HEEE JEART B HH IR S+ 19 it
6 FEH G YRS B R s A 191
3 Ffh HE MR =1 3 6 it
4tk A H sk At 3 8 it
5 4 A R U A 3 7 fit
6 Ffhs A R U A 4 0 it
3 AR HRIX R A E e 19t
1R TR E A 3 5 fit
2 FE R TR E A 3 6 fit
3R TR ER A A 3 6 it
4 R TR E R A 3 8 fit




5 AERL AL E R A AL 3 7 fit
6 F 5 AL FEH A S A 4 0 fiit
1 AT A HRR A AL 19 fit
3 FEF FOUERER US4 3 6 fiit
4 FHER} FOXERR S AL 3 8 ffit
5 AEHF FOR EEER a4 3 7
6 B FOUERER US4 4 0 ffit
1 AR % 2E R 4 19 it
2 I MR 2F 2t 191t
3G A U At 191
4 FEE R Rt 2F 2t 191t
5 454 2E R 4 19 it
6 45 34 A AL HCE it 191
14T H A SCEH ok A= 14 19 fit
3 AR T H A SCEH ok A=tk 1 9 it
54T H A ST iR U 1 9 fiit
5 FEFiE Bl 2 an)i T eSS S 3 8 fit
1 4EE T (e ' 1 9 it
2 FEIETE 24 Gakken 19 fit
3 AFIE T [ I ' 1 9 it
4 HEETE 4 Gakken 19
5 fEETE RSt SCERE 191
6 4 IE S 4 Gakken 19
3 R f R 2 H: Gakken 1 9 it
5 FE IR f PR & fh Gakken 1 9 it
5 HEHGh JEAT B E H ok A= 1k 3 7 it
6 o FE BF P A HH Rk A Ak 4 0O fiit

.33.




